KYUNGPOOK Math. J. 64(2024), 185-196 https://doi.org/10.5666/KMJ.2024.64.1.185 pISSN 1225-6951 eISSN 0454-8124 © Kyungpook Mathematical Journal

# On the Growth of Transcendental Meromorphic Solutions of Certain algebraic Difference Equations

XINJUN YAO, YONG LIU\* AND CHAOFENG GAO Department of Mathematics, Shaoxing College of Arts and Sciences, Shaoxing, Zhejiang 312000, P. R. China e-mail: y2247006689@163.com, liuyongsdu1982@163.com and gao1781654505@163.com

ABSTRACT. In this article, we investigate the growth of meromorphic solutions of

$$a(z)(\frac{\Delta_c \eta}{\eta})^2 + (b_2(z)\eta^2(z) + b_1(z)\eta(z) + b_0(z))\frac{\Delta_c \eta}{\eta}$$
  
=  $d_4(z)\eta^4(z) + d_3(z)\eta^3(z) + d_2(z)\eta^2(z) + d_1(z)\eta(z) + d_0(z)$ 

where  $a(z), b_i(z)$  for i = 0, 1, 2 and  $d_j(z)$  for j = 0, ..., 4 are given functions,  $\triangle_c \eta = \eta(z+c) - \eta(z)$  with  $c \in \mathbb{C} \setminus \{0\}$ . In particular, when the a(z), the  $b_i(z)$  and the  $d_j(z)$  are polynomials, and  $d_4(z) \equiv 0$ , we shall show that if  $\eta(z)$  is a transcendental entire solution of finite order, and either deg  $a(z) \neq \deg d_0(z) + 1$ , or, deg  $a(z) = \deg d_0(z) + 1$  and  $\rho(\eta) \neq \frac{1}{2}$ , then  $\rho(\eta) \geq 1$ .

## 1. Introduction and Main Results

We begin by discussing the case of differential equations, and then move on to difference equations. Concerning the case of first-order differential equations, Malmquist [13] showed a century ago that the only equation of the form

<sup>\*</sup> Corresponding Author.

Received March 8, 2023; accepted June 27, 2023.

Key words and phrases: Entire functions, Difference equations, Value distribution, Finite order.

This work was supported by the NNSF of China (No.10771121, 11401387), the NSF of Zhejiang Province, China (No. LQ 14A010007), the NSFC Tianyuan Mathematics Youth Fund(No. 11226094), the NSF of Shandong Province, China (No. ZR2012AQ020 and No. ZR2010AM030) and the Fund of Doctoral Program Research of Shaoxing College of Art and Science(20135018)

$$\eta' = R(z,\eta),$$

where R is rational in both arguments, that can have transcendental meromorphic solutions, is the Riccati equation:

$$\eta' = a_0(z) + a_1(z)\eta + a_2(z)\eta^2.$$

In 1954, Wittich [15] obtained the result that if the coefficients  $a_j(z)$  are rational functions, then all meromorphic solutions of the Riccati equation are of finite order.

We consider a more general case of the following first-order algebraic differential equation

(1.1) 
$$C(z,\eta)(\eta')^2 + B(z,\eta)\eta' + A(z,\eta) = 0,$$

where  $C(z,\eta) \neq 0, B(z,\eta)$  and  $A(z,\eta)$  are polynomials in z and  $\eta$ . In 1980, Steinmetz [14] showed that if (1.1) has a transcendental meromorphic solution, then the equation (1.1) can be reduced to the form

(1.2) 
$$a(z)\eta'^{2} + (b_{2}(z)\eta^{2} + b_{1}(z)\eta + b_{0}(z))\eta' = d_{4}(z)\eta^{4}(z) + d_{3}(z)\eta^{3} + d_{2}(z)\eta^{2} + d_{1}(z)\eta + d_{0}(z).$$

where  $a(z), b_i(z)$  for i = 0, 1, 2 and  $d_j(z)$  for j = 0, ..., 4 are polynomials.

In this paper, we adopt the standard notation of Nevanlinna theory, as found in [7, 16]. Moreover, the forward difference  $\triangle_c \eta$  is defined as  $\triangle_c \eta = \eta(z+c) - \eta(z)$ . In recent years, there has been tremendous interest in developing the value distribution of meromorphic functions with respect to a difference analogue, see [3, 4]. In 2018, Ishizaki and Korhonen [8] investigated meromorphic solutions of a difference equation of the form

$$\Delta \eta(z)^2 = A(z)(\eta(z)\eta(z+1) - B(z)).$$

They proved that the above difference equation possesses a continuous limit to the difference equation

$$(\eta')^2 = A(z)(\eta^2 - 1),$$

which extends to solutions in certain cases.

For a more general case, next let us consider the difference analogue of (1.2). It is interesting to consider the nature of a meromorphic solution  $\eta$  of

(1.3) 
$$a(z)\left(\frac{\Delta_c\eta}{\eta}\right)^2 + (b_2(z)\eta^2(z) + b_1(z)\eta(z) + b_0(z))\frac{\Delta_c\eta}{\eta} \\ = d_4(z)\eta^4(z) + d_3(z)\eta^3(z) + d_2(z)\eta^2(z) + d_1(z)\eta(z) + d_0(z).$$

186

Our first theorem is about the growth of meromorphic solutions of (1.3).

**Theorem 1.1.** Let  $c \in \mathbb{C} \setminus \{0\}$ , let  $T(r, a(z)) = S(r, \eta)$ , let  $T(r, b_i(z)) = S(r, \eta)$  for i = 0, 1, 2, let  $T(r, d_j(z)) = S(r, \eta)$  for  $j = 0, \dots, 4$  and let  $d_4(z) \neq 0$ . If  $\eta(z)$  is a transcendental meromorphic solution of (1.3), then  $\rho(\eta) = \infty$ .

Here  $\rho(\eta)$  denotes the order of growth of the meromorphic function  $\eta(z)$ . In what follows  $\lambda(\eta)$  and  $\lambda(\frac{1}{\eta})$  denote the exponents of convergence of the zeros and poles of  $\eta(z)$ , respectively. While the above result was about the case  $d_4(z) \neq 0$ , the following is about the case  $d_4(z) \equiv 0$ . Indeed, taking  $d_4(z) \equiv 0$ , (1.3) becomes

(1.4) 
$$\begin{aligned} a(z)\eta'^2 + (b_2(z)\eta^2 + b_1(z)\eta + b_0(z))\eta' \\ = d_4(z)\eta^4(z) + d_3(z)\eta^3 + d_2(z)\eta^2 + d_1(z)\eta + d_0(z) \end{aligned}$$

Using the method from Liao and Yang [11], we obtain

**Theorem 1.2.** Let  $c \in \mathbb{C} \setminus \{0\}$ , and let  $a(z), b_i(z)$  for i = 0, 1, 2), and  $d_j(z)$  for j = 0, 1, 2, 3 be polynomials. If  $\eta(z)$  is a finite order transcendental entire solution of (1.4), and either deg  $a(z) \neq \deg d_0(z) + 1$ , or, deg  $a(z) = \deg d_0(z) + 1$  and  $\rho(\eta) \neq \frac{1}{2}$ , then

 $\rho(\eta) \ge 1.$ 

#### 2. Proof of Theorem 1.1

Let  $c_j, j = 1, \dots, n$ , be a finite collection of complex numbers. Then a difference polynomial in  $\eta(z)$  is a function which is polynomial in  $\eta(z + c_j)$  for  $j = 1, \dots, n$ , with meromorphic coefficients  $a_{\lambda}(z)$  such that  $T(r, a_{\lambda}) = S(r, \eta)$  for all  $\lambda$ . As for difference counterparts of the Clunie Lemma [1], see [5, Corollary 3.3]. The following lemma is a more general version. The following lemma due to Laine and Yang [9] is an analogue of a result due to A. Z. Mohon'ko and V. D. Mohon'ko [12] on differential equations. We start by recalling some lemmas.

**Lemma 2.1** [9] Let  $\eta$  be a transcendental meromorphic solution of finite order of a difference equation of the form

(2.1) 
$$U(z,\eta)P(z,\eta) = Q(z,\eta),$$

where  $U(z,\eta), P(z,\eta)$ , and  $Q(z,\eta)$  are difference polynomials such that the total degree deg  $U(z,\eta) = n$  in  $\eta(z)$  and its shifts, and deg  $Q(z,\eta) \leq n$ . Moreover, we assume that  $U(z,\eta)$  contains just one term of maximal total degree in  $\eta(z)$  and its shifts. Then

$$m(r, P(z, \eta)) = S(r, \eta)$$

We need one more lemma from [6]. We say that  $\eta$  has more than  $S(r, \eta)$  poles of a certain type, if the integrated counting function of these poles is not of type  $S(r, \eta)$ .

We use the notation  $D(z_0, r)$  to denote an open disc of radius r centered at  $z_0 \in \mathbb{C}$ . Also,  $\infty^k$  denotes a pole of  $\eta$  with multiplicity k. Similarly,  $0^k$  and  $a + 0^k$  denote a zero and a-point of  $\eta$ , respectively, with the multiplicity k.

**Lemma 2.2** [6] Let  $\eta$  be a meromorphic function having more than  $S(r, \eta)$  poles, and let  $a_s, s = 1, \dots, n$ , be small meromorphic functions with respect to  $\eta$ . Denote by  $m_j$  the maximum order of zeros and poles of the functions  $a_s$  at  $z_j$ . Then for any  $\varepsilon > 0$ , there are at most  $S(r, \eta)$  points  $z_j$  such that q

$$\eta(z_j) = \infty^{k_j}$$

where  $m_j \geq \varepsilon k_j$ .

**Proof of Theorem 1.1.** Let  $\eta$  be a meromorphic solution of (1.3). We assume that  $\rho(\eta) = \rho < \infty$ . (1.3) can be written as follows

(2.1) 
$$d_4(z)\eta^6(z) = Q(z,\eta),$$

where  $Q(z,\eta) = a(z)(\triangle_c \eta)^2 + (b_2(z)\eta^2(z) + b_1(z)\eta(z) + b_0(z)) \triangle_c \eta\eta - d_3(z)\eta^5(z) - d_2(z)\eta^4(z) - d_1(z)\eta^3(z) - d_0(z)\eta^2(z)$ . Since the total degree of  $Q(z,\eta)$  as a polynomial in  $\eta(z)$  and its shifts, deg  $Q(z,\eta) \leq 5$ , by Lemma 2.1 and (2.1), we have

$$m(r,\eta) = S(r,\eta).$$

So,  $\eta$  has more than  $S(r, \eta)$  poles, counting multiplicities. Using  $z_j$  to denote points in the pole sequence. By Lemma 2.2, we obtain that there exist more than  $S(r, \eta)$ points such that  $\eta(z_j) = \infty^{k_j}$ , where  $\varepsilon k_j > m_j$ . Here  $m_j$  refers to the coefficients  $a(z), b_i(z)(i = 0, 1, 2), d_j(z)(j = 0, 1, 2, 3)$ . Denoting the sequence of such poles by  $z_{1,j}$ , we take this sequence as our starting point. For  $\varepsilon < \frac{1}{8}$ , (1.3) implies that  $\eta(z_{1,j} + c) = \infty^{k_{2,j}}$ , where  $k_{2,j} \ge (2 - \varepsilon)k_{1,j}$ . Lemma 2.2 implies that  $\eta$  has more than  $S(r, \eta)$  such points  $z_{2,j}$  such that  $\eta(z_{2,j}) = \infty^{k_{2,j}}$ , where  $\varepsilon k_{2,j} > m_{2,j}$ . Then we only pick one of these points and denote it by  $z_{2,j}$ . Continuing to the next phase. By (1.3), we deduce that  $z_{3,j} := z_{2,j} + c$  is a pole of  $\eta$  of multiplicity  $k_{3,j}$ , where

$$k_{3,j} \ge (2-\varepsilon)k_{2,j} \ge (2-\varepsilon)^2 k_{1,j}$$

Following the steps above, we can find a sequence  $z_n$  of poles of  $\eta$ , the multiplicity of which is  $k_n$ , and  $k_n \ge (2 - \varepsilon)^{n-1} k_1 \ge (2 - \varepsilon)^{n-1}$ . By a simple geometric observation, we have

$$z_n \in D(z_1, (n-1)|c|) \subset D(0, |z_1| + (n-1)|c|) = D(0, r_n).$$

As  $n \to \infty$ , we have  $r_n \leq 2(n-1)|c|$ . So,

$$n(r_n, f) \ge (2 - \varepsilon)^{n-1} > \left(\frac{15}{8}\right)^{n-1}.$$

188

Hence, we have  $\lambda(\eta) = \infty$ , a contradiction. So  $\rho(\eta) = \infty$ .

## 3. Proof of Theorem 1.2

**Lemma 3.1** [2] Let  $\eta$  be a transcendental entire function of order  $\rho(\eta) = \rho < 1$ , let  $0 < \varepsilon < \frac{1}{8}$  and z be such that |z| = r, where

$$|\eta(z)| > M(r,\eta)(\nu(r,\eta))^{-\frac{1}{8}+\varepsilon}$$

holds. Then for each positive integer k, there exists a set  $E \subset (1, \infty)$  that has finite logarithmic measure, such that for all  $r \notin E \cup [0, 1]$ ,

$$\frac{\Delta_c \eta}{\eta} = c \frac{\nu(r, \eta)}{z} (1 + o(1)).$$

**Lemma 3.2** [10] Suppose that  $\eta(z)$  is a transcendental entire function of finite order  $\rho(\eta) = \rho < \infty$ , and that a set  $E_r \subset R^+$  has a finite logarithmic measure. Then, there exists a sequence of positive numbers  $r_k$  satisfying  $r_k \notin E_r$  and  $r_k \to \infty$  such that for given  $\varepsilon > 0$ , as  $r_k$  sufficiently lager, we have  $r_k^{\rho-\varepsilon} < \nu(r_k, \eta) < r_k^{\rho+\varepsilon}$  and  $\exp r_k^{\rho+\varepsilon} < M(r_k, \eta) < \exp r_k^{\rho+\varepsilon}$ .

**Proof of Theorem 1.2.** Suppose that  $\eta(z)$  is a transcendental entire function. Suppose, contrary to the assertion, that  $\rho(\eta) = \rho < 1$ . If  $d_3(z) \neq 0$ , then we can write (1.4) in this form

(4.1) 
$$d_3(z) = \frac{a(z)}{\eta^3} \left(\frac{\triangle_c \eta}{\eta}\right)^2 + \frac{b_2(z)}{\eta} \frac{\triangle_c \eta}{\eta} + \frac{b_1(z)}{\eta^2} \frac{\triangle_c \eta}{\eta} + \frac{b_0(z)}{\eta^3} \frac{\triangle_c \eta}{\eta} - \frac{d_2(z)}{\eta} - \frac{d_1(z)}{\eta^2} - \frac{d_0(z)}{\eta^3}.$$

By Lemma 3.1, we know that there exists a set  $H \subset (1, \infty)$  of finite logarithmic measure, such that

(4.2) 
$$\frac{\triangle_c \eta}{\eta} = c \frac{\nu(r,\eta)}{z} (1+o(1)), \quad |z| = r \notin H,$$

where z satisfy |z| = r and  $|\eta(z)| = M(r, \eta)$ ,  $\nu(r, \eta)$  is the central index of  $\eta(z)$ . By Lemma 3.2, we see that there exist some infinite sequence of points  $z_k$  such that  $|\eta(z_k)| = M(r_k, \eta)$ , and such that for any given  $\varepsilon(0 < \varepsilon < \frac{1-\rho}{2})$ , as  $r_k \to \infty$ , and  $|z_k| = r_k \notin H_1 \cup H \cup [0, 1]$ , where  $H_1 \subset (1, \infty)$  is a subset with finite logarithmic measure, we have

(4.3) 
$$\frac{\nu(r_k,\eta)}{r_k} < r_k^{\rho+\varepsilon-1} \to 0.$$

Thus, by (4.1)-(4.3), we deduce that as  $z_k$  satisfy  $|\eta(z_k)| = M(r_k, \eta), |z_k| = r_k \notin H_1 \cup H \cup [0, 1], r_k \to \infty$ 

$$\begin{aligned} (4.4) \qquad |d_{3}(z_{k})| &\leq |\frac{a(z_{k})}{M(r_{k},\eta)^{3}}(\frac{\Delta_{c}\eta}{\eta})^{2}| + |\frac{b_{2}(z_{k})}{M(r_{k},\eta)}\frac{\Delta_{c}\eta}{\eta}| \\ &+ |\frac{b_{1}(z_{k})}{(M(r_{k},\eta)^{2})}\frac{\Delta_{c}\eta}{\eta}| + |\frac{b_{0}(z_{k})}{M(r_{k},\eta)^{3}}\frac{\Delta_{c}\eta}{\eta}| \\ &+ |\frac{d_{2}(z_{k})}{M(r_{k},\eta)}| + |\frac{d_{1}(z_{k})}{M(r_{k},\eta)^{2}}| + |\frac{d_{0}(z_{k})}{M(r_{k},\eta)^{3}}| \\ &= |\frac{a(z_{k})}{M(r_{k},\eta)}||(c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1)))^{2}| \\ &+ |\frac{b_{2}(z_{k})}{M(r_{k},\eta)}||c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))| \\ &+ |\frac{b_{0}(z_{k})}{M(r_{k},\eta)^{3}}||c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))| \\ &+ |\frac{b_{0}(z_{k})}{M(r_{k},\eta)^{3}}||c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))| \\ &+ |\frac{d_{2}(z_{k})}{M(r_{k},\eta)}| + |\frac{d_{1}(z_{k})}{M(r_{k},\eta)^{2}}| + |\frac{d_{0}(z_{k})}{M(r_{k},\eta)^{3}}| \to 0. \end{aligned}$$

This is impossible. Hence  $d_3(z) \equiv 0$ . Now we may write (1.4) as follows

(4.5) 
$$d_2(z) - b_2(z) \frac{\Delta_c \eta}{\eta} = \frac{a(z)}{\eta^2} (\frac{\Delta_c \eta}{\eta})^2 + \frac{b_1(z)}{\eta} \frac{\Delta_c \eta}{\eta} + \frac{b_0(z)}{\eta^2} \frac{\Delta_c \eta}{\eta} - \frac{d_1(z)}{\eta} - \frac{d_0(z)}{\eta^2}.$$

By (4.2), (4.3), and (4.5), we know that

$$(4.6) \qquad ||d_{2}(z_{k})| - |b_{2}(z_{k})c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))|| \\ \leq |d_{2}(z_{k}) - b_{2}(z_{k})\frac{\Delta_{c}\eta}{\eta}| \\ = |\frac{a(z_{k})}{\eta^{2}}(\frac{\Delta_{c}\eta}{\eta})^{2} + \frac{b_{1}(z_{k})}{\eta}\frac{\Delta_{c}\eta}{\eta} + \frac{b_{0}(z_{k})}{\eta^{2}}\frac{\Delta_{c}\eta}{\eta} - \frac{d_{1}(z_{k})}{\eta} - \frac{d_{0}(z_{k})}{\eta^{2}} \\ = |\frac{a(z_{k})}{M(r_{k},\eta)^{2}}||(c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1)))^{2}| \\ + |\frac{b_{1}(z_{k})}{M(r_{k},\eta)^{2}}||c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))| \\ + |\frac{b_{0}(z_{k})}{M(r_{k},\eta)^{2}}||c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))| \\ + |\frac{d_{1}(z_{k})}{M(r_{k},\eta)}| + |\frac{d_{0}(z_{k})}{M(r_{k},\eta)^{2}}| \to 0.$$

We divide the proof into the following two cases

Case 1. If  $b_2(z) \equiv 0$ , then (4.6) implies that  $d_2(z) \equiv 0$ , hence (1.4) can be written as following

(4.7) 
$$a(z)\left(\frac{\Delta_c\eta}{\eta}\right)^2 + (b_1(z)\eta(z) + b_0(z))\frac{\Delta_c\eta}{\eta} = d_1(z)\eta(z) + d_0(z).$$

By computing (4.7), we have

$$(4.8) \qquad ||d_1(z)| - |b_1(z)\frac{\Delta_c\eta}{\eta}|| \\ \leq |d_1(z) - b_1(z)\frac{\Delta_c\eta}{\eta}| \\ = |\frac{a(z)}{\eta}(\frac{\Delta_c\eta}{\eta})^2 + \frac{b_0(z)}{\eta}\frac{\Delta_c\eta}{\eta} - \frac{d_0(z)}{\eta}| \\ \leq |\frac{a(z)}{\eta}(\frac{\Delta_c\eta}{\eta})^2| + |\frac{b_0(z)}{\eta}\frac{\Delta_c\eta}{\eta}| + |\frac{d_0(z)}{\eta}|.$$

By (4.1)-(4.3) and (4.8), we obtain that as  $z_k$  satisfy  $|\eta(z_k)| = M(r_k, \eta), |z_k| = r_k \notin H_1 \cup H \cup [0, 1], r_k \to \infty$ 

(4.9)  

$$||d_{1}(z_{k})| - |b_{1}(z_{k})c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))||$$

$$\leq |\frac{a(z_{k})}{M(r_{k},\eta)}(c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1)))^{2}|$$

$$+ |\frac{b_{0}(z_{k})}{M(r_{k},\eta)}c\frac{\nu(r_{k},\eta)}{r_{k}}(1+o(1))|$$

$$+ |\frac{d_{0}(z_{k})}{M(r_{k},\eta)}| \to 0.$$

If  $b_1(z) \neq 0$ , then by (4.9),

(4.10) 
$$\frac{||d_1(z_k)| - |b_1(z_k)c\frac{\nu(r_k,\eta)}{r_k}(1+o(1))||}{b_1(z_k)} \to 0.$$

(4.3) and (4.10) imply that

(4.11) 
$$\frac{d_1(z_k)}{b_1(z_k)} \to 0,$$

as  $k \to \infty$ . Since  $d_1(z)$  and  $b_1(z)$  are polynomials, we obtain that by (4.11)

(4.12) 
$$\frac{z_k d_1(z_k)}{b_1(z_k)} \to q_k$$

as  $k \to \infty$ , and q is a finite constant. Suppose that  $d_1(z) \not\equiv 0$ . Then we deduce that from (4.10) and (4.12)

$$|q| = \lim_{k \to \infty} |\frac{z_k d_1(z_k)}{b_1(z_k)}| = |c| \lim_{k \to \infty} \nu(r_k, \eta)(1 + o(1)) = \infty.$$

This is impossible. Hence  $d_1(z) \equiv 0$ . (1.4) can be reduced into

(4.13) 
$$a(z)(\frac{\Delta_c \eta}{\eta})^2 + (b_1(z)\eta(z) + b_0(z))\frac{\Delta_c \eta}{\eta} = d_0(z),$$

By the above assumption, we know  $b_1(z) \not\equiv 0$ , then (4.13) implies that

$$(4.14) \qquad |\Delta_{c} \eta| \\ = |\frac{d_{0}(z_{k})}{b_{1}(z_{k})} - \frac{a(z_{k})(\frac{\Delta_{c}\eta}{\eta})^{2}}{b_{1}(z_{k})} - \frac{b_{0}(z_{k})\frac{\Delta_{c}\eta}{\eta}}{b_{1}(z_{k})}| \\ \le |\frac{d_{0}(z_{k})}{b_{1}(z_{k})}| + |\frac{a(z_{k})(\frac{\Delta_{c}\eta}{\eta})^{2}}{b_{1}(z_{k})}| + |\frac{b_{0}(z_{k})\frac{\Delta_{c}\eta}{\eta}}{b_{1}(z_{k})}| \\ \le Mr_{k}^{N}.$$

where M and N are some finite constants. On the other hand, we know that

(4.15) 
$$|\frac{\triangle_c \eta}{Mr_k^N}| = |c| \frac{\nu(r_k, \eta)(1 + o(1))M(r_k, \eta)}{|M|r_k^{N+1}} \to \infty,$$

as  $k \to \infty$ , a contradiction. Hence  $b_1(z) \equiv 0$ . By (4.9), we also get  $d_1(z) \equiv 0$ . Hence, we can write (1.4) as follows

(4.16) 
$$a(z)(\frac{\Delta_c\eta}{\eta})^2 + b_0(z)\frac{\Delta_c\eta}{\eta} = d_0(z).$$

We assume that  $a(z) \neq 0$ , next we consider the following two subcases. Subcase I. deg  $b_0(z) \geq \text{deg } a(z)$ , we have by (4.16), (4.2) and (4.3),

(4.17) 
$$|lb_0(z_k)\frac{\nu(r_k,\eta)}{r_k}(1+o(1))| = |d_0(z_k)|$$

where l is a finite nonzero constant. So

(4.18) 
$$\lim_{k \to \infty} \left| \frac{d_0(z_k)}{b_0(z_k)} \right| = \lim_{k \to \infty} \left| l \right| \frac{\nu(r_k, \eta)}{r_k} (1 + o(1)) = 0$$

(4.18) implies that

(4.19) 
$$\lim_{k \to \infty} \frac{z_k d_0(z_k)}{b_0(z_k)} \to l_1,$$

where  $l_1$  is some finite constant. By (4.19) and (4.17), as  $k \to \infty$ , we obtain

$$\nu(r_k,\eta) \le \left|\frac{d_0(z_k)}{b_0(z_k)}r_k\right| \to l_1.$$

We can get a contradiction, since  $\nu(r_k, \eta) \to \infty$ , as  $k \to \infty$ . Subcase 2. deg  $b_0(z) < \deg a(z)$ , we have by (4.16), (4.2) and (4.3),

$$(4.20) \qquad |\frac{d_0(z_k)}{a(z_k)}| \le (c\frac{\nu(r_k,\eta)}{r_k})^2 (1+o(1))| + |\frac{b_0(z_k)}{a(z_k)} c\frac{\nu(r_k,\eta)}{r_k} (1+o(1))| \to 0,$$

as  $k \to \infty$ . We assume that  $d_0(z) \neq 0$ . If deg  $a(z) = \deg b_0(z) + 1$ , then as  $k \to \infty$ 

(4.21) 
$$\frac{r_k d_0(z_k)}{a(z_k)} = l_2, \quad \frac{r_k b_0(z_k)}{a(z_k)} \to l_3$$

where  $l_2$  is a finite nonzero constant, and  $l_2$  is a finite constant. By Lemma 3.2, we have

(4.22) 
$$r_n^{\rho(\eta)-\varepsilon} < \nu(r_n,\eta) < r_n^{\rho(\eta)+\varepsilon}.$$

If  $\rho(\eta) < \frac{1}{2}$ , then by (4.16), (4.21) and (4.22), for any given  $\varepsilon(0 < \varepsilon < \frac{1-2\rho}{2})$ , we have

$$|l_2| = |\frac{r_k d_0(z_k)}{a(z_k)}| \le |\frac{\nu(r_k, \eta)^2}{r_k}| + |\frac{\nu(r_k, \eta)}{r_k} \frac{r_k b_0(z_k)}{a(z_k)}| \le r_k^{2\rho + 2\varepsilon - 1} + |l_3| r_k^{\rho + \varepsilon - 1} \to 0,$$

a contradiction. If  $\rho(\eta) > \frac{1}{2}$ , then by (4.16), (4.21) and (4.22), for any given  $\varepsilon(0 < \varepsilon < \frac{1-2\rho}{2})$ , we have

$$r_k^{2\rho-1-\varepsilon} \le |\frac{(\nu(r_k,\eta)^2)}{r_k}| \le |\frac{(\nu(r_k,\eta))}{r_k}| |\frac{r_k b_0(z_k)}{a(z_k)}| + |\frac{r_k d_0(z_k)}{a(z_k)}| \le l_4,$$

where  $l_4$  is some finite constant. This is impossible, since  $r_k^{2\rho-1-\varepsilon} \to \infty$ , as  $k \to \infty$ . If deg  $a(z) > \deg d_0(z) + 1$ , as  $k \to \infty$ , we have

(4.23) 
$$\frac{r_k b_0(z_k)}{a(z_k)} \to l_3, \quad \frac{r_k^2 d_0(z_k)}{a(z_k)} \to l_5,$$

where  $l_5$  are some finite constants. By (4.23) and (4.16), as  $k \to \infty$ , we have

$$\nu(r_k,\eta) \le \left|\frac{r_k b_0(z_k)}{a(z_k)}\right| + \left|\frac{r_k^2 d_0(z_k)}{a(z_k)}\frac{1}{\nu(r_k,\eta)}\right| \to l_6,$$

where  $l_6$  is some finite constant, we can get a contradiction, since  $\nu(r_k, \eta) \to \infty$ . So  $d_0(z) \equiv 0$ . By (4.16), we have

$$\nu(r_k,\eta) \le |\frac{r_k b_0(z_k)}{a(z_k)}| \to l_3,$$

a contradiction.

By Subcase 1 and Subcase 2, we have  $a(z) \equiv 0$ . So (1.4) can be reduced into

(4.24) 
$$b_0(z)\frac{\triangle_c\eta}{\eta} = d_0(z)$$

Together (4.24) and (4.2), we obtain

(4.25) 
$$b_0(z_k)c\frac{\nu(r_k,\eta)}{r_k} = d_0(z_k).$$

(4.25) implies that either  $\lim_{k\to\infty} \nu(r_k,\eta) = l_7$ , where  $l_7$  is a finite constant, or  $\nu(r_k,\eta) \ge l_8 r_k^n$ , where  $l_8$  is a finite nonzero constant, and n is a positive integer. This is a contradiction.

Case 2. If  $b_2(z) \neq 0$ , then by (4.6)

(4.26) 
$$\frac{||d_2(z_k)| - |b_2(z_k)c\frac{\nu(r_k,\eta)}{r_k}(1+o(1))||}{b_2(z_k)} \to 0.$$

By (4.26), we have

(4.27) 
$$\frac{d_2(z_k)}{b_2(z_k)} \to 0,$$

as  $k \to \infty$ . Since  $d_2(z)$  and  $b_2(z)$  are polynomials, we get by (4.27)

(4.28) 
$$\frac{z_k d_2(z_k)}{b_2(z_k)} \to l_9,$$

as  $k \to \infty$ , and  $l_9$  is a finite constant. Suppose that  $d_2(z) \neq 0$ . Then we deduce that from (4.28)

(4.29) 
$$l_9 = \lim_{k \to \infty} \left| \frac{z_k d_2(z_k)}{b_2(z_k)} \right| = |c| \lim_{k \to \infty} \nu(r_k, \eta) (1 + o(1)) = \infty.$$

This is impossible, since  $l_9$  is a finite constant. Hence  $d_2(z) \equiv 0$ . (1.4) can be reduced into

$$\begin{split} | \triangle_c \eta | &= |\frac{d_1(z_k)}{b_2(z_k)} + \frac{d_0(z_k)}{b_2(z_k)} \frac{1}{\eta(z)} - \frac{b_1(z_k)\frac{\triangle_c \eta}{\eta}}{b_2(z_k)} - \frac{a(z_k)(\frac{\triangle_c \eta}{\eta})^2}{b_2(z_k)} \frac{1}{\eta} - \frac{b_0(z_k)\frac{\triangle_c \eta}{\eta}}{b_2(z_k)} \frac{1}{\eta} | \\ &\leq |\frac{d_1(z_k)}{b_2(z_k)}| + |\frac{d_0(z_k)}{b_2(z_k)} \frac{1}{\eta(z)}| + |\frac{b_1(z_k)(\frac{\triangle_c \eta}{\eta})^2}{b_2(z_k)}| + |\frac{a(z_k)(\frac{\triangle_c \eta}{\eta})^2}{b_2(z_k)} \frac{1}{\eta}| + |\frac{b_0(z_k)\frac{\triangle_c \eta}{\eta}}{b_2(z_k)} \frac{1}{\eta}| \\ &\leq l_{10}r_k^{l^{11}} \end{split}$$

where  $l_{10}$  and  $l_{11}$  are some finite constants. On the other hand, we know that

(4.30) 
$$\frac{\triangle_c \eta}{l_{10} r_k^{l_{11}}} = |c| \frac{\nu(r_k, \eta)(1 + o(1))M(r_k, \eta)}{l_{10} r_k^{l_{11}+1}} \to \infty,$$

as  $k \to \infty$ . This is a contradiction,  $\frac{\triangle_c \eta}{l_{10} r_k^{l_{11}}} < 1$ 

By Case 1 and Case 2, we know  $\rho(\eta) \ge 1$ .

Acknowledgements. The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

# References

- J. Clunie, On integral and meromorphic functions, J. Lond. Math. Soc., 37(1962), 17–27.
- [2] Y. M. Chiang and S. J. Feng, On the growth of logarithmic differences, differences quotients and logarithmic derivatives of meromorphic functions, Trans. Amer. Math. Soc., 361(7)(2009), 3767–3791.
- [3] X. Dong and K. Liu, Entire function sharing a small function with its mixed-operators, Georgian Math. J., 26(2019), 47–62.
- [4] X. M. Gui, H. Y. Xu and H. Wang, uniqueness of meromorphic functions sharing small functions in the k-punctured complex plane, AIMS Mathematics, 5(6)(2020), 7438-7457.
- [5] R. G. Halburd and R. Korhonen, Nevanlinna theory for the difference operator, Ann. Acad. Sci. Fenn. Math., 31(2006), 463–478.
- [6] R. G. Halburd and R. J. Korhonen, Finite order solutions and the discrete Painlevé equations, Proc. London Math. Soc., 94(2)(2007), 443–474.
- [7] W. K. Hayman, Meromorphic Functions, Clarendon Press, Oxford, 1964.
- [8] K. Ishizaki and N. Yanagihara, Wiman-Valiron method for difference equations, Nagoya Math. J., 175(2004), 75–102.
- [9] I. Laine and C. C. Yang, Clunie theorems for difference and q-difference polynomials, J. Lond. Math. Soc., 76(2)(2007), 556–566.
- [10] X. M. Li and H. X. Yi, Entire functions sharing an entire function of smaller order with their difference operators, Acta Mathematical Sinica, English Series., 30(3)(2014), 481–498.
- [11] L. W. Liao and C. C. Yang, On the growth and factorization of entire solutions of algebraic differential equations, Ann. Acad. Sci. Fenn. Math., 25(2000), 73–84.
- [12] A. Z. Mohono and V. D. Mohono, Estimates of the Nevanlinna characteristics of certain classes of meromorphic functions, and their applications to differential equations, Sibirsk. Mat. Zh., 15(1974) 1305–22.
- [13] J. Malmquist, Sur les fonctions à un nombre fini des branches définies par les équations différenielles du premier ordre, Acta Math. 36(1913), 297–343.

- [14] N. Steinmetz, Ein Malmquistscher Satz f
  ür algebraische Differentialgleichungen erster Ordnung, J. Reine Angew. Math., 316(1980), 44–53.
- [15] H. Wittich, Einige Eigenschaften der Lösungen von  $w = a(z) + b(z)w + c(z)w^2$ , Arch. Math., 5(1954), 226–232.
- [16] C. C. Yang and H. X. Yi, Uniqueness of Meromorphic Functions, Kluwer, Dordrecht, 2003.